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The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

Rlustrate the answers wherever necessary.

1. Answer any two questions from the following : 2x15

{a) What do you mean by indifference curve ? State the
different properties of indifference curve. What are

substitution effect and income effect? 5+5+5

('Tum Over)



(b) Discuss the concepts of average cost, average variable
cost and average fixed cost. Why is the short run

average cost curve of a firm ‘U’ shaped ? 9+6

{c} On which factors demand for a commodity depends ?

What do you mean by change in demand and change
in quantity demanded ? Write two exceptions to the

law of demand. 5+6+4

(d} Define National income. What are the different
methods of estimating national income, Explain each

of them. 3+4+8

{(¢) What are the different demand for money as explained
by Keynes in ‘Liquidity Preference Theory of Interest’ ?
Discuss methods of credit control by Central Bank.

5+10

() What do you mean by demand-pull and cost-push
inflation ? Explain the concept of ‘inflationery gap’.
S5+5+5
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2. Answer any five questions of the following : 5x8

(a) Explain with diagram the break even point and shut

down point for a perfectly competitive market.
4+4

(b) State the law of demand. What do you mean by 'cross

price elasticity of demand ? | 345

{c) Explain the law of Variable proportion. State three

stages of production. 444

(d) Explain with the help of indifference curves and
Budget lines, how a consumer attains equilibrium.

8

(¢) Write the different characteristics of a monopolistically

competitive makret. 8

{f) Define money. Write down the different functions of

money, - 3+5

(g} What is consumption function? Show' that
MPC + MPS = 1. - 4+4
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(h} Derive and interpret the following identity in a closed

economy with government :

I=8+(T-aG) 4+4

3. Answer any five questions from the following : Sx4

(a) Distinguish between returns to a variable factor and

returns to scale. 4

(b) Distinguish between Micro-economics and Macro-

econornics. 4

{c) Define supply. Explain the shape of supply curve. T

1+3
(d) Distinguish between GNP and GDP. 4

(e} What are the different phases of a business cycle ?
4

{fi Suggest some measures of controlling inflation. 4

(8) What is investment multiplier ? What wiil be the value
of the multiplier if mpc=0.757 2+2
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{h) Explain the concept of liquidity trap. 4
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